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Essential question: How do you represent a ﬁncﬁon w_ith a table or graph? d;é 3

Understanding Relationships

Carlos needs to buy somé new pencils from the school supply cabinet .-
at school. Carlos asks his classmates if they know how much pencils
cost. Angela says she bought 2 pencils for $0.50. Paige bought 3 pencrls
for $0.75, and Spencer bought 4 pencils for $1 .00.

Carles thinks about thé rule for the price ofa pencﬂ as a machine. When he puts -
. the number of pencils he wants to buy into the machine, the machine applies a '
rule and- tells him the total cost of that number of pcncﬂs '
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A Use the pricesin the problem to fill in rows i-iii of the table. -

Describe any pattems you see. Use your pattern to determine the cost
of 1 pencil, <

ﬂ:of (?e/\(,\\s (I\bY |, +he Cfﬁ_‘}* ’f‘by$2£
(1.pen¢il = 325) - |

G Use the pattern you identified to write the rulefapp]ied by the machine.
Write the rule as an algebraic expression and fill in row iv of the table.

) Haughton_ MIfflin Harcourt Publishing Campany
w

' ",_Dl"' Carlos wants to buy 12 pencils. Use your rule to fill in row v of the table to
show how much Carlos will pay for 12 pencils.
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: ,Teil whether each relatlonshlp is a functlon
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There are 6 pencﬂ top erasers in 2 packages of erasers. There are 9 erasers _ .
in 3 packages. : o ' @

1a. Write a rule in words for the number of packages Carlos -needs to buy to

get x erasers. Then write the rule as an algebralc expression.
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1b. How many packages does Carlos need to buy to get18 erasers?

i« = 6 pacKkagel
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1¢. How canyou demde what operation to use in your rule?
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The rules in @R are functions, and the machines are funcﬂon machines. The
value that is put into.a function mach'ne is the t The result after applymg

the function machine’s rule is the ont

~ one output to each input.

Function -

A table of valties can lep}.ﬁSBIlt a functmn if each mput value is palred with only | &
one output value. . : : S

' "quog'pizing Fﬁhqitions

Fach mput has only one : 0(4 )Lp Y +‘

Thls relationship 4'_5. a funcuqn.
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The mput / has more than one output. -

y:
Thls relanonshlp [ ~S OT a function.
13 55 .
14 57

15 | 52

‘ The mput values (x) and output values ( y) ofa function can be dlsplayed ina
table or written as ordered pairs (x, ). These ordered pairs can be graphed inthe
coordinate plane to show a graph, Of the funcﬂon .

Some fllllCllUn rules can be: wntten as equations such as y =2x. By substitut'mg'
i -values for X, you-can generate c0r1e3pond1ng y-values The ordered pa;rs (x, y) are .
i , soluhons of the equaﬂon '

Graph the furj_ctioh y= 2x 4 3. .

Create a table of values. , - Write ordered pairs.
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Graph thc_brdered pairs.
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T8 Z = all the possible x—ualues and their corresponding
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Fill in each table. In the row with x as the input, write a rule as an

_algebraic expréésion for the output. Then complete the last row of the.
table using the rule. : '

1.
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Graph each fpnction on the coordinate plane.
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9. y=x-3 | -
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